Data Depress;

Infile 'c:\MultivariateAnalysis05x\AfifiData\CESDDepression\Depress.txt';

Input ID SEX AGE MARITAL EDUCAT EMPLOY INCOME RELIG 

   C1 C2 C3 C4 C5 C6 C7 C8 C9 C10 C11 C12 C13 C14 C15 C16 C17 C18 C19 C20 

   CESD CASES DRINK HEALTH REGDOC TREAT BEDAYS ACUTEILL CHRONILL;

   RUN;

/*

   Proc contents Data= depress;

   run;

   Proc Freq Data= Depress {obs= 30) ;

   Tables C1 - c20;

   Run;

   Proc Standard Data= Depress Out= DepressStd Mean= 0 STD= 1;

   Proc Factor Data= Depress {obs= max) rotate= v nfactors= 4  ;

   Var C1 - C20;

   run;

*/
   Proc Factor Data= Depress (obs= max)  nfactors= 3  scree eigenvectors covariance 

out= factorest outstat= factorstat;

   Var C1 - C20;

   run;

   proc print data= factorstat; run;

Proc CALIS DATA= factorstat (type= factor) residual;


Factor N=3;



*Matrix;


Var c1 - c20;

run;

/*

data work factorstat2;

set factorstat;

*if _type_ ~= 'PATTERN';

If _type_= 'SCORE' and _name_ = 'Factor1' then do;


c1= 1;


c2= 1;


c3= 1;


c4= 1;


c5= 1;


c6= 1;


c7= 1;


c8= 0;


c9= 0;


c10= 0;


c11= 0;


c12= 0;


c13= 0;


c14= 0;


c15= 0;


c16= 0;


c17= 0;


c18= 0;


c19= 0;


c20= 0;

end;

If _type_= 'SCORE' and _name_ = 'Factor3' then do;


c1= .;


c2= .;


c3= .;


c4= .;


c5= .;


c6= .;


c7= .;


c8= .;


c9= .;


c10= .;


c11= .;


c12= 1;


c13= 1;


c14= 1;


c15= 1;


c16= 1;


c17= 1;


c18= 1;


c19= 1;


c20= 1;

end;

If _type_= 'SCORE' and _name_ = 'Factor2' then do;


c1= 0;


c2= 0;


c3= 0;


c4= 0;


c5= 0;


c6= 0;


c7= 0;


c8= 1;


c9= 1;


c10= 1;


c11= 1;


c12= 0;


c13= 0;


c14= 0;


c15= 0;


c16= 0;


c17= 0;


c18= 0;


c19= 0;


c20= 0;

end;

proc print data= factorstat2; run;

run;

Proc CALIS DATA= factorstat2 (type= factor) residual;


Factor N=3;



*Matrix;



Var c1 - c20;

Title3 'Factorstat 2';

run;

*/
*****************************************************;
Proc CALIS DATA= factorstat method= lsml  residual;


Factor heywood N=3;



Var c1 - c20;


Matrix _F_



{1,1} = F101  (1),  {1,2} = F201 (0),  {1,3} = F301 (0),



{2,1} = F102  (1),  {2,2} = F202 (0),  {2,3} = F302 (0),



{3,1} = F103  (1),  {3,2} = F203 (0),  {3,3} = F303 (0),



{4,1} = F104  (1),  {4,2} = F204 (0),  {4,3} = F304 (0),



{5,1} = F105  (1),  {5,2} = F205 (0),  {5,3} = F305 (0),



{6,1} = F106  (1),  {6,2} = F206 (0),  {6,3} = F306 (0),



{7,1} = F107  (1),  {7,2} = F207 (0),  {7,3} = F307 (0),



{8,1} = F108  (0),  {8,2} = F208 (1),  {8,3} = F308 (0),



{9,1} = F109  (0),  {9,2} = F209 (1),  {9,3} = F309 (0),



{10,1} = F110 (0), {10,2} = F210 (1), {10,3} = F310 (0),



{11,1} = F112 (0), {11,2} = F211 (1), {11,3} = F311 (0),



{12,1} = F113 (0), {12,2} = F212 (0), {12,3} = F312 (1),



{13,1} = F114 (0), {13,2} = F213 (0), {13,3} = F313 (1),



{14,1} = F115 (0), {14,2} = F214 (0), {14,3} = F314 (1),



{15,1} = F115 (0), {15,2} = F215 (0), {15,3} = F315 (1),



{16,1} = F116 (0), {16,2} = F216 (0), {16,3} = F316 (1),



{17,1} = F117 (0), {17,2} = F217 (0), {17,3} = F317 (1),



{18,1} = F118 (0), {18,2} = F218 (0), {18,3} = F318 (1),



{19,1} = F119 (0), {19,2} = F219 (0), {19,3} = F319 (1),



{20,1} = F120 (0), {20,2} = F220 (0), {20,3} = F320 (1);


Matrix _p_



{1,1}  = 1,



{2,1}  = .1,  {2,2} = 1,



{3,1}  = .1,  {3,2} = .1, {3,3} = 1;


run;

*****************************************************;
Proc CALIS DATA= factorstat method= lsml  residual;


Factor heywood N=3;



Var c1 - c20;


Matrix _F_



{1,1} = F101  (1),  {1,2} = 0,  {1,3} = 0,



{2,1} = F102  (1),  {2,2} = 0,  {2,3} = 0,



{3,1} = F103  (1),  {3,2} = 0,  {3,3} = 0,



{4,1} = F104  (1),  {4,2} = 0,  {4,3} = 0,



{5,1} = F105  (1),  {5,2} = 0,  {5,3} = 0,



{6,1} = F106  (1),  {6,2} = 0,  {6,3} = 0,



{7,1} = F107  (1),  {7,2} = 0,  {7,3} = 0,



{8,1} = 0,  {8,2} = F208 (1),  {8,3} = 0,



{9,1} = 0,  {9,2} = F209 (1),  {9,3} = 0,



{10,1} = 0, {10,2} = F210 (1), {10,3} = 0,



{11,1} = 0, {11,2} = F211 (1), {11,3} = 0,



{12,1} = 0, {12,2} = 0, {12,3} = F312 (1),



{13,1} = 0, {13,2} = 0, {13,3} = F313 (1),



{14,1} = 0, {14,2} = 0, {14,3} = F314 (1),



{15,1} = 0, {15,2} = 0, {15,3} = F315 (1),



{16,1} = 0, {16,2} = 0, {16,3} = F316 (1),



{17,1} = 0, {17,2} = 0, {17,3} = F317 (1),



{18,1} = 0, {18,2} = 0, {18,3} = F318 (1),



{19,1} = 0, {19,2} = 0, {19,3} = F319 (1),



{20,1} = 0, {20,2} = 0, {20,3} = F320 (1);


Matrix _p_



{1,1}  = 1,



{2,1}  = .1,  {2,2} = 1,



{3,1}  = .1,  {3,2} = .1, {3,3} = 1;


run;


Proc Factor Data= Depress (obs= max)  nfactors= 3  scree eigenvectors covariance 

out= factorest outstat= factorstat rotate= v;

   Var C1 - C20;

   run;

Proc CALIS DATA= factorstat method= lsml  residual;


Factor heywood N=3;



Var c1 - c20;


Matrix _F_



{1,1} = F101  (1),  {1,2} = 0,  {1,3} = 0,



{2,1} = F102  (1),  {2,2} = 0,  {2,3} = 0,



{3,1} = F103  (1),  {3,2} = 0,  {3,3} = 0,



{4,1} = F104  (1),  {4,2} = 0,  {4,3} = 0,



{5,1} = F105  (1),  {5,2} = 0,  {5,3} = 0,



{6,1} = F106  (1),  {6,2} = 0,  {6,3} = 0,



{7,1} = F107  (1),  {7,2} = 0,  {7,3} = 0,



{8,1} = 0,  {8,2} = F208 (1),  {8,3} = 0,



{9,1} = 0,  {9,2} = 0,  {9,3} = F309 (1),



{10,1} = 0, {10,2} = 0, {10,3} = F310 (1),



{11,1} = 0, {11,2} = F211 (1), {11,3} = 0,



{12,1} = 0, {12,2} = 0, {12,3} = F312 (1),



{13,1} = 0, {13,2} = 0, {13,3} = F313 (1),



{14,1} = 0, {14,2} = F214 (1)0, {14,3} = 0,



{15,1} = F115 (1), {15,2} = 0, {15,3} = 0,



{16,1} = 0, {16,2} = f216 (1), {16,3} = 0,



{17,1} = 0, {17,2} = F217 (1), {17,3} = 0,



{18,1} = 0, {18,2} = 0, {18,3} = F318 (1),



{19,1} = 0, {19,2} = 0, {19,3} = F319 (1),



{20,1} = 0, {20,2} = 0, {20,3} = F320 (1);


Matrix _p_



{1,1}  = 1,



{2,1}  = .1,  {2,2} = 1,



{3,1}  = .1,  {3,2} = .1, {3,3} = 1;


run;

******************************************;
Proc CALIS DATA= factorstat method= lsml  residual;


Factor heywood N=3;



Var c1 - c20;


Matrix _F_



{1,1} = 1,  {1,2} = 0,  {1,3} = 0,



{2,1} = 1,  {2,2} = 0,  {2,3} = 0,



{3,1} = 1,  {3,2} = 0,  {3,3} = 0,



{4,1} = 1,  {4,2} = 0,  {4,3} = 0,



{5,1} = 1,  {5,2} = 0,  {5,3} = 0,



{6,1} = 1,  {6,2} = 0,  {6,3} = 0,



{7,1} = 1,  {7,2} = 0,  {7,3} = 0,



{8,1} = 0,  {8,2} = 1,  {8,3} = 0,



{9,1} = 0,  {9,2} = 0,  {9,3} = 1,



{10,1} = 0, {10,2} = 0, {10,3} = 1,



{11,1} = 0, {11,2} = 1, {11,3} = 0,



{12,1} = 0, {12,2} = 0, {12,3} = 1,



{13,1} = 0, {13,2} = 0, {13,3} = 1,



{14,1} = 0, {14,2} = 1, {14,3} = 0,



{15,1} = 1, {15,2} = 0, {15,3} = 0,



{16,1} = 0, {16,2} = 1, {16,3} = 0,



{17,1} = 0, {17,2} = 1, {17,3} = 0,



{18,1} = 0, {18,2} = 0, {18,3} = 1,



{19,1} = 0, {19,2} = 0, {19,3} = 1,



{20,1} = 0, {20,2} = 0, {20,3} = 1;


Matrix _p_



{1,1}  = 1,



{2,1}  = .1,  {2,2} = 1,



{3,1}  = .1,  {3,2} = .1, {3,3} = 1;


run;


Title3 '';

run;

